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WEST BENGAL STATE UNIVERSITY 

B.A./B.Sc. Honours 1st Semester Examination, 2021-22 

ECOACOR01T-ECONOMICS (CC1) 

Time Allotted: 2 Hours Full Marks: 50 

The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

All symbols are of usual significance. 

1. Answer any five questions from the following:
িনmিলিখত েয-েকােনা পাঁচিট  pেűর উtর দাওঃ 

2×5 = 10

(a)  Use demand and supply curves to illustrate how an increase in the price of cheese 
may affect the price of butter. 
চািহদা ও েযাগান েরখার সাহােযয্ েদখাও েয চীজ-এর দাম বৃিd েপেল মাখেনর ভারসাময্ দাম িকভােব 
pভািবত হেব। 

(b) Can a set of indifference curve be positively slopped? If so, what would this tell 
you about the two goods? 
িনরেপk েরখা ঊƤর্মুখী হেত পাের িক ? যিদ হয় তেব dবয্ dিট সmেকর্ িক ধারণা করেত পার ? 

(c) Why is short run average cost never less than long run average cost?
slকালীন গড় বয্য় েকন কখনই দীঘর্কালীন গড় বয্েয়র েচেয় কম হেত পাের না ? 

(d) What is Consumer Surplus? 
েভাkার উdbt বলেত িক েবাঝায় ? 

(e) If supply curve of any commodity is a positively slopped straight line passing 
through the origin, what is the value of price elasticity of supply at any point on 
the supply curve? 
েকােন া  dেবয্র েযাগান েরখা যিদ ধনাtক ঢালিবিশŶ মূলিবn ুগামী সরলেরখা হয়, তেব ঐ েরখার 
েয-েকােনা িবn ুেত েযাগােনর িsিতsাপকতার মান কত ? 

(f) What is the returns to scale for the production function- 312kQ . 
312kQ এই উৎপাদন আেপkকিটর জনয্ pিতদােনর মাtা িক হেব ? 

(g) Draw an income consumption curve in a two-commodity space, where one 
commodity is inferior. 
একিট আয় েভাগ েরখা অìন কেরা েযখােন একিট dবয্ িনkŶ। 

(h) 2211 XPXPM  is the budget line. If a unit tax ‘t’ is imposed on 1X , a unit 
subsidy ‘s’ is imposed on 2X  and a lumpsum tax ‘u’ is imposed on income M 
simultaneously, what will be the equation of the new budget line? 

2211 XPXPM  হল বােজট েরখা। এখন 1X -এর উপর যিদ ইউিনট কর t আেরািপত হয়  
2X -এর উপের যিদ ইউিনট ভtর্িক s এবং আেয়র উপর u েথাক আয়কর বসােনা হয়, তেব নtন 

বােজট েরখািটর সমীকরণ িক হেব ? 
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2. Answer any four questions from the following: 

িনmিলিখত েয-েকােনা চারিট  pেűর উtর দাওঃ 
5×4 = 20

(a) Explain why two indifference curves cannot intersect each other.
dিট িনরেপk েরখা পরsর েছদ করেত পাের না েকন বয্াখয্া কেরা। 

(b) Using normal indifference curves show a case where price effect coincides with 
the substitution effect. 
sাভািবক িনরেপk েরখা বয্বহার কের এমন একিট পিরিsিত েদখাও েযখােন মলূয্ pভাব পিরবতর্  
pভাব-এর সেñ িমেল যায়। 

(c) A consumer demands less of a commodity when its price falls. Does this imply 
reduced demand for the same commodity when the consumer earns more 
income? Explain your answer clearly. 
েকােন া পেণয্র দাম কমেল েভাkার চািহদার পিরমাণ যিদ কেম, তেব িক ওই েভাkার আয় বাড়েলও 
পণয্িটর জনয্ েভাkার চািহদা কেম যােব ? েতামার উtর পিরŴারভােব বয্াখয্া কেরা। 

(d) Suppose the demand function for a product is given by- PsPQ 210 , where 
P is the price of the product and S is the price of the substitute good. Given 

20Ps , find the own price elasticity and cross price elasticity of the product at 
10P . 

ধরা যাক চািহদা অেপkকিট হল PsPQ 210  েযখােন P হল dবয্িটর দাম এবং S হল 
পিরবতর্ dেবয্র দাম। এখােন 20Ps  dবয্িটর িনজ দামগত িsিতsাপকতা এবং পারsিরক দামগত 
িsিতsাপকতা িনণর্য় কেরা যখন 10P । 

(e) Show that increasing returns to scale and decreasing return of a factor can coexist. 
েদখাও েয kমবধর্মান উৎপাদেনর মাtা এবং েকান  উপাদােনর kমhাসমান pিতদান একসােথ থাকেত 
পাের। 

(f) Consider the production function 150Q L, where Q is total output and L is the 
quantity of labour employed. What does the total product curve look like? 
Describe the AP and MP curves. 
ধরা যাক উৎপাদন অেপkকিট হল 150Q L, েযখােন Q হল েমাট উৎপাদন এবং L হল Ëেমর 
পিরমাণ। েমাট উৎপাদন েরখা িকrপ েদখেত হেব ? AP এবং MP েরখার আkিত েকমন হেব ? 

2+1 2
1 +1 2

1

  
3. Answer any two questions from the following: 

িনmিলিখত েয-েকােনা dিট  pেűর উtর দাওঃ 
10×2 = 20

 (a) Rani is always willing to trade one blue pen with one red pen.
রানী সবর্দা একিট নীল েপেনর িবিনমেয় একিট লাল েপন িদেত pstত। 
(i) What can you say about Rani’s marginal rate of substitution? 
 এেkেt pািnক পিরবিতর্তার মান কত ? 
(ii) Draw the set of indifference curves for Rani. 
 রানীর িনরেপk মানিচt িকrপ হেব ? 
(iii) Discuss the possible equilibrium of Rani. 
 রানীর েkেt সmাবয্ ভারসাময্ েকমন হেত পাের আেলাচনা কেরা। 
(iv) If a blue pen costs Rs. 2 per unit and a red pen costs Rs. 4 per unit and Rani’s 

income is Rs. 100, present Rani’s equilibrium. 
 যিদ একিট নীল েপেনর দাম 2 টাকা, একিট লাল েপেনর দাম 4 টাকা এবং রানীর আয় 100 টাকা 

হয়, রানীর ভারসাময্ িনণর্য় কেরা।  

1+2+4+3
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(b) Distinguish between Hicks approach and the Slutsky approach relating to the 
decomposition of price effect into income effect and substitution effect. 
দাম pভাবেক আয় pভাব এবং পিরবতর্ pভােব িবভাজন সmিকর্ত িহk পdিত এবং সলুটিk পdিতর 
মেধয্ পাথর্কয্ কেরা। 

(c) Suppose that a bread producer’s total cost function is as follows:
202.03300 QQTC , Where TC is the total cost and Q is the quantity of 

bread produced. Find out (i) TFC function, (ii) ATC function (iii) TVC function 
and (iv) AVC function. Find the MC when 6Q . 

ধরা যাক েকােন া একিট পাউrিট উৎপাদেকর েমাট উৎপাদন বয্য় অেপkক হল 
202.03300 QQTC । েমাট িsর বয্য় অেপkক, গড় িsর বয্য় অেপkক, েমাট পিরবতর্নশীল 

বয্য় অেপkক, গড় পিরবতর্নশীল বয্য় অেপkক িনণর্য় কেরা। 6Q  হেল pািnক বয্য় কত হেব ? 

2+2+2+2+
2

(d) What is a CES production function? Using a CES production function find out 
the value of elasticity of substitution. How do you relate Cobb-Douglas 
production function with CES production function? 
CES উৎপাদন অেপkক বলেত িক েবােঝা ? একিট CES উৎপাদন অেপkক বয্বহার কের 
িবকlায়েনর িsিতsাপকতার মান েবর কেরা। একিট কব-ডগলাস উৎপাদন অেপkক িকভােব একিট 
CES উৎপাদন অেপkেকর সােথ সmিকর্ত ? 

2+5+3

  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to 

their own respective colleges on the same day / date of examination within 1 hour after end 
of exam. University / College authorities will not be held responsible for wrong submission 
(at in proper address). Students are strongly advised not to submit multiple copies of the 
same answer script. 

 ––––×––— 
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WEST BENGAL STATE UNIVERSITY 

B.A./B.Sc. Honours 1st Semester Examination, 2020, held in 2021 

ECOACOR01T-ECONOMICS (CC1) 

Time Allotted: 2 Hours Full Marks: 50 

The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

All symbols are of usual significance. 

1. Answer any five questions: 
েয-েকােনা পাঁচিট  pেűর উtর দাওঃ 

2×5 = 10

(a)  Graphically explain the effect on equilibrium price and quantity of hotel rooms in 
Goa when continuous disruption of flights causes travellers to shy away from air 
travel. 
kমাগত িবমান পিরেষবায় বয্াঘাত ঘটায় পয�টেকরা যিদ িবমান Çমেণ উৎসাহ হারায়, তেব েগায়ার 
েহােটল ঘেরর ভারসাময্ দাম ও পিরমােণ িক pভাব পড়েব তা েরখািচেtর সাহােযয্ েদখাও। 

(b) If the equation of the Engel curve is given by 2Mq , where q is quantity and M 
is money income, find out the income elasticity of demand for the commodity. 
েকান এেĂল েরখার সমীকরণ যিদ 2Mq  হয়, q dেবয্র পিরমাণ ও M  আয়, তেব dবয্িটর আয়গত 
িsিতsাপকতার মান কত ? 

(c) Define ‘isoclines’.
‘আইেসাkাইেনর’ সংjা দাও। 

(d) Define expansion path.  
সmpসারণ েরখার সংjা দাও। 

(e) What is the shape of average fixed cost curve?
গড় িsর বয্য় েরখার আকার িকrপ হয় ? 

(f) If demand is unit elastic how will a decline in price affect total revenue?  
যিদ চািহদা একক িsিতsাপক হয়, তেব েমাট আেয়র উপর দাম hােসর িক pভাব পড়েব ? 

(g) Calculate the elasticity of supply for the supply curve QP 310  at  P = 25, 
P and Q represent price and quantity respectively.  

QP 310  েযাগান েরখািটেত, P = 25 িবn ুেত েযাগােনর িsিতsাপকতার মান িনণ�য় কেরা। 

(h) In a two commodity space draw the budget line of a consumer where one 
commodity is rationed so that no more than a specific amount of it can be 
purchased.  
dিট dেবয্র পিরসের একিট বােজট েরখা েদখাও েযখােন একিট dেবয্র েkেt েরশন আেরািপত হেয়েছ 
ফলত েসিট একিট িনিদ�Ŷ পিরমােণর েবিশ েকনা যােব না। 
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2. Answer any four questions: 

েয-েকােনা চারিট  pেűর উtর দাওঃ 

5×4 = 20

(a) Find the value of elasticity of substitution for CES production function.  

CES উৎপাদন অেপkেকর েkেt িবকlায়েনর িsিতsাপকতার মান েবর কেরা। 

(b) Constant return to scale may co-exist with diminishing return to variable 
factor — Explain.  
সমহার pিতদােনর মাtা ও kমhাসমান pািnক উৎপাদেনর িবিধ একইসােথ থাকেত পাের —  বয্াখয্া 
কেরা। 

(c) How is the curvature of an isoquant related to the marginal rate of technical 
substitution?  
সেমাৎপাদন েরখার বkতা িকভােব pেকৗশলগত pািnক পিরবত�তার হােরর সােথ যুk ? 

(d) “If prices of two inputs are equal they should be used in equal amounts”. Is the 
proposition correct?  Justify your answer.  
‘উৎপাদেনর dিট উপাদােনর দাম সমান হেল তােদর সমান পিরমােণ বয্বহার করা হেব’ িসdাnিট িক 
িঠক ? যিুk িদেয় বল। 

(e) Suppose the total cost function is given by 216 QC . Illustrate the shape of the 
average and marginal cost curves in a diagram. 
মেন কেরা েমাট বয্য় অেপkকিট হল 216 QC । একিট েরখািচেtর সাহােযয্ গড় বয্য় ও pািnক 
বয্য় অেপkকgিলর আkিত বণ�না কেরা। 

(f) Construct a set of indifference curve in each of the following cases:
িনmিলিখত পিরিsিত dিটেত িনরেপk েরখার আkিত েকমন হেব ? 
(i)  The person likes X but neutral about Y. 
 েকান ব য্িk X  পছn কের িকnt Y  dেবয্র pিত িনরেপk। 

(ii)  The consumer likes both X and Y but believes that beyond 6 units of X a day, 
X is bad and beyond 4 units of Y a day, Y is bad. 

 েভাkা X  এবং Y  dেটাই পছn কের িকnt িদেন 6 িট X  এর েবিশ X  এবং 4 িটর েবিশ Y  পছn 
কের না। 

  
3. Answer any two questions: 

েয-েকােনা dিট  pেűর উtর দাওঃ 
10×2 = 20

 (a) Let the utility function be xyu , and the budget line is yPxPM yx .. .  

ধরা যাক উপেযািগতা অেপkকিট হল xyu  এবং বােজট েরখা yPxPM yx .. । 

(i)  Derive the optimum values of X and Y. 
 X  এবং Y  এর কাময্ মান িক ? 

(ii)  Show that the sum of price elasticity, cross price elasticity and income 
elasticity of demand equal to zero. 

 েদখাও েয চািহদার িনজ দামগত িsিতsাপকতা, পারsিরক দামগত িsিতsাপকতা এবং আয়গত 
িsিতsাপকতার েযাগফল শূনয্। 

5+5



CBCS/B.A./B.Sc./Hons./1st Sem./ECOACOR01T/2020, held in 2021 

1010 3  Turn Over 

(b) (i)  Define homogeneous function.
 সমজাতীয় উৎপাদন অেপkেকর সংjা দাও। 
(ii)  Show that KLAq  is a homogeneous function. 

 েদখাও েয KLAq  অেপkকিট একিট সমজাতীয় অেপkক। 

(iii)  Discuss the properties of Cobb-Douglas production function. 
 কব-ডগলাস উৎপাদন অেপkেকর �বিশŶয্gিল আেলাচনা কেরা। 

2+2+6

(c) (i)  Left and right shoes are perfect complements. Draw the appropriate price 
consumption and income consumption curve. 

 বাম পােয়র জুেতা এবং ডান পােয়র জুেতা সmূণ� পিরপূরক। pাসিñক দাম সােপk েভাগ েরখা 
এবং আয় সােপk েভাগ েরখা অìন কেরা। 

(ii)  State and explain the Slutsky decomposition of price effect into income 
effect and substitution effect. 

 sাটিs িনিদ�Ŷ দাম pভােবর আয় pভাব এবং পিরবত� pভােবর মেধয্ িবিcnকরেণর সূtিট েলেখা 
এবং বয্াখয্া কেরা। 

5+5

(d) (i)  Define ‘consumers surplus’ and show it graphically.
 ‘েভাkার উdbt’ এর সংjা দাও এবং ছিব এঁেক েদখাও। 

(ii)  Distinguish between ordinary demand curve and compensated demand 
curve. 

 সাধারণ চািহদা েরখা এবং kিতপূরক চািহদা েরখার মেধয্ পাথ�কয্ েদখাও। 

5+5

  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to 

their own respective colleges on the same day / date of examination within 1 hour after end 
of exam. University / College authorities will not be held responsible for wrong submission 
(at in proper address). Students are strongly advised not to submit multiple copies of the 
same answer script. 

 ––––×––—
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WEST BENGAL STATE UNIVERSITY 

B.A./B.Sc. Honours 1st Semester Examination, 2020, held in 2021 

ECOACOR02T-ECONOMICS (CC2) 

MATHEMATICAL METHODS FOR ECONOMICS-I 

Time Allotted: 2 Hours Full Marks: 50 

The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

All symbols are of usual significance. 

1. Answer any five questions from the following:
িনmিলিখত েয-েকােনা পাঁচিট  pেűর উtর দাওঃ 

2×5 = 10

(a) Enumerate all the subsets of the set }0,9,5,1{S . 
}0,9,5,1{S -এই ‘েসট’-এর সবকিট সাবেসট েলেখা। 

(b) Obtain the explicit functions for the following implicit function: 
িনmিলিখত অnিনর্িহত অেপkকিটর সুsŶ অেপkকgিল িনণর্য় কেরাঃ 
 043 22 xy  
Are these explicit functions single valued? 
এই সুsŶ অেপkকgিল িক একক মূলয্বান অেপkক ? 

(c) What is linear dependency of vectors? Explain with example. 
েভkেরর সরলৈরিখক িনভর্রতা িক ? উদাহরণসহ িবেųষণ কেরা। 

(d) Distinguish between global maxima and local maxima. 
‘Global maxima’ এবং ‘local maxima’-র মেধয্ পাথর্কয্ িনrপণ কেরা। 

(e) If the domain of the function xy 35  is a set }91|{ xx , find the range of 
the function and express it as a set.  
যিদ xy 35  অেপkকিটর অĀল হয় েসট }91|{ xx , তেব তার িবsার িনণর্য় কেরা এবং 
েসট িহসােব েদখাও। 

(f) )2)(1(
)(

2

xx
xxf . At which values of x  the function is discontinuous? 

x -এর েকান ্  মানgিলেত 
)2)(1(

)(
2

xx
xxf  অেপkকিট িবিcn ? 

(g) Suppose labour is the only variable factor of production. Calculate the average 
variable cost when average productivity of labour is 15 and wage rate is 60.  
মেন কেরা েকােনা উৎপাদেনর একমাt পিরবতর্নশীল উপাদান হল Ëম। যিদ Ëেমর গড় উৎপাদনশীলতা 
15 ও মজুিরর হার 60 টাকা হয় তেব গড় পিরবতর্নশীল বয্য় িনণর্য় কেরা। 
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(h) Consider a two-good world with goods 1x  and 2x  that sell at prices 1p , 2p  
respectively. Suppose that a consumer with money income M  has the following 
demand function for 1x : 

 2
1

2
1 p

Mpx  

Show that if money income and both prices increase by the same proportion then 
the demand for the good will remain same. What is its implication? 
ধর, dই dবয্ িবিশŶ পৃিথবীেত 1x  এবং 2x  dবয্ dিট যথাkেম 1p  ও 2p  দােম িবkয় হয়। ‘ M ’ 
আিথর্ক আয় িবিশŶ েkতার 1x  dেবয্র চািহদা অেপkকিট হলঃ 

 2
1

2
1 p

Mpx  

েদখাও েয, যিদ েkতার আয় এবং dিট dেবয্র দাম একই হাের বােড় তেব dবয্িটর চািহদা অপিরবিতর্ত 
থাকেব। এর তাৎপযর্ িক ? 

  
2. Answer any four questions from the following: 

িনmিলিখত েয-েকােনা চারিট  pেűর উtর দাওঃ  

5×4 = 20

(a) Derive the expression for a level curve corresponding to the utility function 
22),( yxyxUU . Hence determine its shape and curvature. 

উপেযাগ অেপkক 22),( yxyxUU -এর েলেভল েরখােক িকভােব pকাশ করেব ? এই 
েরখািটর আkিত ও বkতা িনণর্য় কেরা। 

1+2+2

(b) Show that in a two good world, expenditure share weighted sum of income 
elasticities is unity and show that the two goods cannot be ‘Superior’ 
simultaneously.  
েদখাও েয dই dবয্ িবিশŶ পৃিথবীেত খরেচর অংেশর ওজেন pকািশত আয়গত িsিতsাপকতার সমিŶ 
এেকর সমান এবং েদখাও েয dিট dবয্ একই সেñ ‘Superior’  হেত পাের না। 

3+2

(c) Given the production function 2
1

2
1

LKQ  and 4.RsKp , 8.RsLp  derive the 
equation of the total cost function. 
উৎপাদন অেপkকিট যিদ 2

1
2
1

LKQ  হয় ও 4.RsKp , 8.RsLp  হয় তেব েমাট বয্য় 
অেপkকিট িনণর্য় কেরা। 

5

(d) The marginal cost function of a firm manufacturing shoes is 26106 xxMC . 
The total cost of producing a pair of shoes is Rs. 40. Find the total cost (TC) and 
average cost (AC) functions of the firm. 
জুেতা উৎপাদনকারী একিট ফােমর্র pািnক বয্য় অেপkকিট হলঃ 26106 xxMC . যিদ এক 
েজাড়া জুেতা উৎপাদন করেত 40 টাকা খরচ হয় তেব ফামর্িটর েমাট বয্য় (TC) এবং গড় বয্য় (AC) 
অেপkক িনধর্ারণ কেরা। 

5

(e) Suppose the demand function is given by qP 38  and the cost function is 
qC 23 . Find out the profit maximizing level of output and price. What is the 

amount of profit? 
ধরা যাক চািহদা অেপkক qP 38  এবং বয্য় অেপkক qC 23 . মুনাফা সেবর্াcকরণ 
উৎপাদেনর পিরমাণ ও দাম িনণর্য় কেরা। মুনাফার পিরমাণ কত ? 

3+1+1
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(f) (i) Show that ⎥
⎦

⎤
⎢
⎣

⎡
105
65

A   and 
⎥
⎥
⎦

⎤

⎢
⎢
⎣

⎡

4
1

4
1

10
3

2
1

X  are inverse of each other.

  

 েদখাও েয ⎥
⎦

⎤
⎢
⎣

⎡
105
65

A  ও 
⎥
⎥
⎦

⎤

⎢
⎢
⎣

⎡

4
1

4
1

10
3

2
1

X  িবপরীতমুখী ময্াি¹k। 

3+2

 
(ii)  Given ⎥

⎦

⎤
⎢
⎣

⎡
43
21

C  and ⎥
⎦

⎤
⎢
⎣

⎡
76
10

D , show that CDCD)( , where C  

 denotes transpose of matrix C . 

 েদওয়া আেছ েয, ⎥
⎦

⎤
⎢
⎣

⎡
43
21

C  এবং ⎥
⎦

⎤
⎢
⎣

⎡
76
10

D ,  েদখাও েয, CDCD)(  েযখােন 

 C  হল ময্াি¹k C -এর ¹াnেপাজ। 

  
3. Answer any two questions from the following: 

িনmিলিখত েয-েকােনা dিট  pেűর উtর দাওঃ  

10×2 = 20

(a) Specify the characteristics of the labour supply function of an individual having 
the utility function defined for a time period of one day given by 

248 LLYLU  where L  denotes leisure hours and Y  denotes income. What 
will be the nature of the labour supply function if the utility function is changed 
to LYU ? 

একজন বয্িkর একিদেনর উপেযািগতা অেপkক হল 248 LLYLU  েযখােন L  ঐ বয্িkর 
�দিনক িবËােমর সময় এবং Y  Ëমলb আয়। ঐ বয্িkর Ëেমর েযাগান অেপkেকর �বিশŶয্gিল সুিনিদর্Ŷ 
কেরা। েযাগান অেপkেকর আkিত িকrপ হেব যিদ উপেযািগতা অেপkকিট হয় LYU ? 

6+4

(b) (i) Construct ordinary and compensated demand function for 1x  from the utility 
function 2212 xxxu .   

 িনেচর উপেযাগ অেপkক েথেক 1x -এর Ordinary এবং Compensated চািহদােরখা িনrপণ 
কেরাঃ  

  2212 xxxu  

5+5

 (ii) Show that ordinary demand curve will have greater demand elasticity than 
 compensated demand curve. 

 েদখাও েয Ordinary চািহদােরখার চািহদা িsিতsাপকতা Compensated চািহদােরখার 
 িsিতsাপকতার েচেয় েবিশ। 

(c) (i) Using matrix inversion method determine the values of 1x , 2x , 3x  from the 
following system of equations: 

 ময্াি¹k িবপরীতকরেণর সাহােযয্ িনmিলিখত সমীকরণgিল েথেক 1x , 2x , 3x -র মান িনণর্য় কেরাঃ 

  
543
1232
854

321

321

321

xxx
xxx
xxx

 

5+5
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 (ii)  Use Cramer’s rule to solve the equations for the unknowns x , y  and z . 

  Cramer-এর িনয়েমর সাহােযয্ সমীকরণgিলর x , y  ও z -এর মান িনণর্য় কেরাঃ 

  
czyx
bzyx
azyx

 

(d) (i) Derive the conditions under which the utility function 21 xxAu  satisfies the 
‘law of diminishing marginal utility’. 

 উপেযাগ অেপkক 21 xxAu -এর েkেt ‘kমhাসমান pািnক উপেযািগতার িনয়ম’ পািলত 
হেত হেল িক িক শতর্ পূরণ হওয়া pেয়াজন ? 

3+7

 (ii) Show that diminishing marginal utility is neither necessary nor sufficient 
condition for the convexity of indifference curve. 

 েদখাও েয kমhাসমান pািnক উপেযািগতা িনরেপk েরখার মূলিবnুর িদেক উtল হওয়ার 
pেয়াজনীয় বা যেথŶ শতর্ েকানিটই নয়। 

  

 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to 
their own respective colleges on the same day / date of examination within 1 hour after end 
of exam. University / College authorities will not be held responsible for wrong submission 
(at in proper address). Students are strongly advised not to submit multiple copies of the 
same answer script. 

 
––––×––— 

 
















